TEREINRSATIL2024 #5R
iR 2024548148 - F—LEE BREBRF: FINRR—YSUK

DS AT 9T/ KA 55 % 2 TIMET |P| TIMEZ |P] BEST
PNH 1 [ 6 (R R |[03= £{>5F43PBR I GDLT =47 23,175/ 0(2, 22, 947 0[2, 22, 947
7 | 5 |#Gf =% |T-OMEGA TAKUMI CATSAA 7 k|2 23 796[0]2, 26, 240[ 02, 23, 796
3| 4 |®m =Ea [HARD N—F 33A4TF 2,33, 603] 0]2, 26, 873 0|2, 25, 873
| 1 =€ #&F |D3= {F43PBRIGDLT=A231,616/0]2 34 571/ 0]2, 31, 616
5 | 3 [fuE =B [OWL A F 4 3/NT—REkET 4 v k2,32, 913[ 02,34, 371] 02, 32, 913
b | 2 [ZM B\E [T. T 25 =IKFFE= A 2,393,657/ 0]2, 33, 589] 02, 33, 589
11 1 |[&af% % [T. T DLZ5=BRIGCVTST=A]2 41,171/ 0[2, 40, 550{ 0]2, 40, 550
SD1| 1 | 9 [E = |[T. 7T EHS<{BNDLISA AL F[2,19,778[0]2, 20, 823[0]2, 19, 778
7 | 10 |8 %# [CMSCHII[CMSCHRIALYFAT1 RX |2 20,957/ 0(2 21, 493]0[2, 20, 957
3 | 8 (M %08F [T. T SO BBE - 55H=J— X4 |2, 23, 093] 0]2, 30, 862/ 02, 23, 093
N [ 1 [ 17 [#& 38k |SKMC S oY—T1¢ 2,09, 98402, 12, 463/ 02, 09, 984
27 | 13 ["F_f&E [MAC FonvJ BRIG S5od—|2 11,128[0]2 11,313[0(2, 11,128
3 | 11 (S0 EE [T. T o 2,16, 994{ 02, 17, 215/ 02, 16, 994
SD2[ 1 | 18 [ E® [SKMC A EBES VY — 2,09, 929] 02, 10, 850[ 02, 09, 929
7 | 1] 2@ B [SKMC Fas4>5 09— 2.11,992[ 012, 14, 860{ 0]2, 11, 992
3 | 14 2R x| [SAC | RWEEEBIES J—SAC |2, 15 471]0]2, 18, 00802, 15, 471
§ | 15 #E % |CMSCEIN|CMSCEER#WC S Y— [2,16,929/0]2, 16, 303/ 0[2, 16, 303
5 | 16 | FA #B |SAC EIEMSSAC | RWS UH— (2,21, 103[0]2, 24, 060/ 0[2, 21, 103
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TR SAT7IL2024 #HEB(@WES)—X)

BfEH 202454148 F# . T—LEERE RESHM:FNAKR—IYSUF

it vTy | K 95T7% E3 TIMET |P| TIMEZ |P| BEST |
1 18 [&# IE® SKMC JCABBES Y — 2,00, 92902, 10, 850{ 02, 09, 929
2 | 12 |#&X 3Ftah [SKMC SoY—TF 2,09,984[ 012, 12, 463|012, 09, 984
31 | 13 [mF & [MAC ooy BRIG 5> 9—][2,11,128/0]2, 11,313[0]2, 11, 128
4117 1em B SKMC FI TS oY— 2,11,992(012, 14, 860/ 02, 11, 992
b | 14 @R X#E |[SAC | RWERBEES > Y—SAC 2,15 471|0[2,18,008] 0[2, 15, 471
b | 15 [E FE CMSCHEJI|CMSCERRHEWC S Y— [2,16,929[0]2, 16, 303[0]2, 16, 303
T 11 & &8 [T. T S — 2,16, 99402, 17, 215/ 02, 16, 994
8 [ 16 [En ZFEEB [SAC EEMSSAC I RWSH— |2, 21,103]0](2, 24, 060{ 02, 21, 103
1 0 R = T. T ESHS5<{BEMDLITAARA T F[2,19,778]0]2, 20,823]0]2, 19,778
2 | 10 & F& CMSCHEI[CMSCHILAYFZRT«RX [2,20,957[0]2, 71, 433[ 0]2, 20, 957
3 bR A [03F 41>5F4«3PBRIGDLFT=A12 23 175[0]2, 22, 947] 02, 22, 947
| 8 [mJII %088 [T. T JCA(BHE- B5HET—2X4  [2,23,093]0]2, 30, 862[ 02, 23, 093
B 5 |Jam ZEX [T-OMEGA TAKUMI CATSZ4 7 F|[2123796/0(2 26, 240[0]2, 23, 796
b HEEES HARD N—F 33X47F 2,33,603[012, 26, 873] 02, 26, 873
] 1 |=€ ##F [053F 41>5F4«3PBRIGDLFT=A]2131,616/0]2, 34,571]0]2, 31, 616
8 1 |f0E ZEB [OWL AT 4 d/N)—FB¥ 74w F|[2,32,913]0]2, 34, 371] 02, 32, 913
9 ? |Z2M BAE [T. T A5 =FKFT =4 2,733,657 02,33, 58902, 33, 589
10 / [A# T [T. T DL#%=BRIGCVT 2, 81, 171|012, 40, 550( 02, 40, 550
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